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MARKING INSTRUCTIONS AND MODEL ANSWERS 

Ñf"k foKkuÑf"k foKkuÑf"k foKkuÑf"k foKku    
AGRICULTURE  

(Academic/Open) 

(Only for Fresh/Re-appear Candidates) 

mimimimi-ijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksdu djds mÙkjdu djds mÙkjdu djds mÙkjdu djds mÙkj-
iqfLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy iqfLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy iqfLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy iqfLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy 
fd;k gS rks mlds iw.kZ vad nsaAfd;k gS rks mlds iw.kZ vad nsaAfd;k gS rks mlds iw.kZ vad nsaAfd;k gS rks mlds iw.kZ vad nsaA     

General Instructions : 

(i) Examiners are advised to go through the 

general as well as specific instructions before 

taking up evaluation of the answer-books. 

(ii) Instructions given in the marking scheme are to 

be followed strictly so that there may be 

uniformity in evaluation. 

(iii)  Mistakes in the answers are to be underlined 

or encircled. 

(iv)  Examiners need not hesitate in awarding full 

marks to the examinee if the answer/s is/are 

absolutely correct. 
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(v)  Examiners are requested to ensure that every 

answer is seriously and honestly gone through 

before it is awarded mark/s. It will ensure the 

authenticity as their evaluation and enhance 

the reputation of the Institution. 

(vi)  A question having parts is to be evaluated and 

awarded partwise. 

(vii)  If an examinee writes an acceptable answer 

which is not given in the marking scheme, he 

or she may be awarded marks only after 

consultation with the head-examiner. 

(viii) If an examinee attempts an extra question, 

that answer deserving higher award should be 

retained and the other scored out. 

(ix)  Word limit wherever prescribed, if violated 

upto 10%. On both sides, may be ignored. If 

the violation exceeds 10%, 1 mark may be 

deducted. 

(x)  Head-examiners will approve the standard of 

marking of the examiners under them only 

after ensuring the non-violation of the 

instructions given in the marking scheme. 

 (xi) Head-examiners and examiners are once again 

requested and advised to ensure the 

authenticity of their evaluation by going 

through the answers seriously, sincerely and 

honestly. The advice, if not headed to, will 

bring  a bad name to them and the Institution. 
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egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %    

(i) vad-;kstuk dk mís'; ewY;kadu dks vf/kdkf/kd oLrqfu"B 
cukuk gSA vad-;kstuk esa fn, x, mÙkj-fcUnq vfUre ugha gSaA 
;s lq>kokRed ,oa lkadsfrd gSaA ;fn ijh{kkFkhZ us buls fHkUu 
fdUrq mi;qDr mÙkj fn, gSa] rks mls mi;qDr vad fn, tk,¡A 

(ii) 'kq)] lkFkZd ,oa lVhd mÙkjksa dks ;Fkk;ksX; vf/keku fn, 
tk,¡A 

(iii) ijh{kkFkhZ }kjk vis{kk ds vuq:i lgh mÙkj fy[kus ij mls 
iw.kk±d fn, tk,¡A 

(iv) orZuhxr v'kqf);ksa ,oa fo"k;karj dh fLFkfr esa vf/kd vad 
nsdj çksRlkfgr u djsaA 

(v) Hkk"kk-{kerk ,oa vfHkO;fDr-dkS'ky ij /;ku fn;k tk,A 
(vi) eq[;-ijh{kdksa/mi-ijh{kdksa dks mÙkj-iqfLrdkvksa dk ewY;kadu 

djus ds fy, dsoy Marking Instructions/ 

Guidelines nh tk jgh gSa] ;fn ewY;akdu funsZ'k esa fdlh 
izdkj dh =qfV gks] iz'u dk mÙkj Li"V u gks] ewY;kadu 
funsZ'k esa fn, x, mÙkj ls vyx dksbZ vkSj Hkh mÙkj lgh gks 
rks ijh{kd] eq[;-ijh{kd ls fopkj-foe'kZ djds ml iz'u dk 
ewY;kadu vius foosd vuqlkj djsaA 

 
uksV %uksV %uksV %uksV %        fuEufyf[kr pkj iz'uksa esa ls fdUgha rhurhurhurhu dk mÙkj nsa] izR;sd 

iz'u 4 vad dk gSA 

    Answer any three out of following four 

questions, each carries 4 marks. 
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  1. Ñf"k ds ifjp; ckjs esa fy[ksaA bldh mRifÙk dSls gqbZ \ 2 + 2 = 4 

 Write about introduction of Agriculture. How 

Agriculture word derived ? 

  2. fdl vk/kkj ij feêh dh mRikndrk dks fofHkUu oxksZa esa ckVk 
x;k gS o blds izR;sd oxZ dh iks"kd rRoksa dh fo"k; lwph fdl 
izdkj ls gS \ 2 + 2 = 4 

 On what basis fertility of soil have been 

classified and in how many classes are there and 

what is the nutrient index value of each class ? 

  3. jklk;fud [kkn o tSfod [kkn ij laf{kIr esa fy[ksaA 2 + 2 = 4 

 Write short notes on chemical fertilizers & 

organic fertilizers. 

  4. ikS/kksa dh mRifÙk ds fy, eq[; rRo dkSu-dkSu-ls gSa \ de ls 
de vkB rRoksa ds uke fy[ksaA ½ × 8 = 4 

 Which are the main nutrients required by Plants 

to grow, name atleast eight nutrients. 

  5. fuEufyf[kr fn, x, lkrlkrlkrlkr iz'uksa esa ls fdUgha N%N%N%N% ds mÙkj nsaA 
izR;sd 3 vad dk gSA 6 × 3 = 18 

 Answer any six questions out of following seven. 

Each carries 3 marks. 

 (a) LFkk;h ¼nh?kZ dkyhu½ Qly mRiknu ls vki D;k le>rs gSa \ 
  What do you mean by sustainable crop 

production ? 

 (b) flapkbZ ls vki D;k le>rs gSa \ 
  What do you mean by irrigation ? 
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 (c) Mªsust D;k gS \ bldks ifjHkkf"kr djsaA 
  Define what is Drainage ? 

 (d) [kjirokj fu;a=.k ls vki D;k le>rs gSa \ 
  What do you mean by weed control ? 

 (e) Qly mi;ksfxrk ds vk/kkj ij muds oxhZdj.k ds fo"k; 
esa O;k[;k djsaA 

  Explain in brief about the classification of 

crops on their utility.  

 (e) puk vkSj cktjk cksus dk vPNk le; dkSu-lk gS \ la{ksi 
esa fy[ksaA 

  Which is the proper time of sowing gram & 

Bajra. Explain in brief ? 

 (vii) ljlksa dh fdUgha rhurhurhurhu mRre fdLeksa ds uke fy[ksaA 
  Name any three improved varieties of 

sarson.  

  6. fuEufyf[kr nl iz'uksa esa ls dksbZ ukS ukS ukS ukS ds mÙkj nsa] izR;sd ds 2 
vad gSaA   9 × 2 = 18 

 Answer any nine questions out of following ten, 

each carries 2 marks. 

 (a) gekjs jkT; esa xsgw¡] /kku vkSj dikl dh mUur fdlesa 
dkSu-lh gS \ 

  Which are the improved varieties of wheat, 

paddy & Cotton in our state ? 

 (b) csj dh nks nks nks nks fdLeksa ds uke fy[ksaA 
  Name any two varieties of Ber.  

 (c) fdUgha    nksnksnksnks lfCt;ksa ds uke ftudh cksvkbZ izfrjksi.k }kjk 
dh tkrh gS \ 

  Name any two vegetables sown by 

transplanting. 
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 (d) vius jkT; esa mxus okys nks nks nks nks Qwyksa ds uke fy[ksaA 
  Write the names of any two flowers, grown 

in your state. 

 (e) fdUgha nksnksnksnks iÙkks okyh lfCt;ksa ds uke fy[ksaA 
  Write the names of any two leafy 

vegetables. 

 (f) mu Qyksa ds uke crkb;s ftudh dVkbZ-NVkbZ djuk 
vko';d gSA 

  Tell the names of fruits where pruning is 
required. 

 (g) nksnksnksnks Qlyksa ds uke ftuls rsy fudyrk gSA 
  Name the two crops whose seed yields oil. 

 (h) fdUgha pkjpkjpkjpkj jkT;ksa ds uke tgk¡ xUus dh [ksrh gksrh gSA 
  Name any four states where sugarcane is 

grown in plenty. 

 (i) iksVk'k nsus okys nksnksnksnks [kknks ds uke crkb,A 
  Name any two fertilizers which provides 

potash to plants. 

 (j) gfj;k.kk dh nks nks nks nks fudkl ufn;ksa ¼Msªust½ ds uke crkb,A 
  Name any two main drains of Haryana. 

  7. bl ckj cksMZ }kjk izFke ckj oLrqfu"B (Objective type) 
iz'uksa esa ls lkr iz'u ,d 'kCn@,d okD; esa mÙkj nsus okys o 
ik¡p iz'uksa ds mÙkj cgqfodYih; (Multiple choice - 

answers) mÙkj esa ls dksbZ ,d mfpr mÙkj nsuk gksxkA  

 12 × 1 = 12  

During this year i. e. 2018-19 out of total twelve 
questions seven questions are of one word/one 
sentence and rest of five are Multiple Choice 
Questions out of four choice we have to choose 
on correct answer.  



 ( 7 ) 4377/4327 

4377/4327    P. T. O. 

 (i) Hkkjr esa [kk|ku ds fy, vPNs Hk.Mkj.k dk i;kZIr    
LFkku ---------A 

  India ............ enough good grain storage 

capacity. 

 (ii) [kjirokj [kjhQ esa jch dh ctk; ---------- gksrs gSaA 
  Growth of weeds is ............... in Kharif as 

compare to Rabi. 

 (iii) lks;kchu gekjs jkT; dh ,d ------------ ugha gSA 
  Soyabean is not .......... of our state. 

 (iv) 'kq"d {ks=ksa esa ikuh dk Lrj ---------- gksrk gSA 
  Water level is ............. in dry land areas. 

 (v) jsrhyh feêh dh ikuh dks j[kus dh {kerk ---------- gksrh 
gSA 

  Sandy soil have .......... water holding 

capacity. 

 (vi) ftad Qly mxkus ds fy, ------------- gSA 
  Zinc is ................ for crop cultivation. 

 (vii) Qly pØ cnyus ls [kjirokj ij vPNk -------- gksrk 
gSA 

  Crop rotation is good for weed ........... . 

 (viii) mRiknu esa e`nk dh lcls vPNh ih0 ,p0 oSY;q D;k gS \ 
  (a) 4.5 ls 6.5 ih0 ,p (b) 7.0 ls 8.5 ih0 ,p 
  (c) 8.5ls 10.5 ih0 ,p (d) 6.5 ls 7.5 ih0 ,p0 
  What is the best PH of soil for cultivation ? 

  (a) 4.5 ls 6.5 P.H (b) 7.0 ls 8.5 P.H  
  (c) 8.5 ls 10.5 P.H (d) 6.5 ls 7.5 P.H. 
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 (ix) fuEu esa ls vPNk e`nk VSDlpj fpfUgr dfj, % 
   (a) yweh e`nk (b) lSUMh e`nk 
   (c) lSUMh ywe e`nk (d) ,Y;wfo,y e`nk 
   Mark best soil structure from the following :  

   (a) Loamy soils (b) Sandy soils 

   (c) Sandy loamy soils 

   (d) Alluvial soils 

  (x) dkcksZukbVªkstu dk lcls vPNk vuqikr gS \ 
   (a) 3 ls 12 (b) 12 ls 18 
   (c) 5 ls 25 (d) 5 ls 21 
  What is the best C : N (Carbon : Nitrogen) 

ratio from the following : 

   (a) 3 to 12 (b) 12 to 18 

   (c) 5 to 25 (d) 5 to 21 

 (xi) fuEu fdl fLFkfr esa ikuh dk fodkl lcls vko';d gS \ 
   (a) lSaMh Lok;y (b) ugj 
   (c) lksfMd Lok;y (d) CySd Lok;y 
  Drainage is most needed, in which of 

following situations : 

   (a) Sandy soils (b) Canal  

   (c) Sodic soils  (d) Black soils 

 (xii) xsgw¡ dh Qly esa dkSu-lh eq[; [kjirokj ikbZ tkrh 
gS/mirth gS \ 

   (a) ckFkw (b) okbYM lSV 
   (c) fgj.k [kkjh (d) pVVªh eVªh 
  Which is major weed found/grow in wheat 

crop ? 

  (a) Bathu (b) Wild cat 

  (c) Hirankhari (d) Chattri-matri 

s 


